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Note : Attempt five queslions in all Question No 1 1«
compulsory and seleci at least one question lrom each
saction. Each question cames aqual marks
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A 520 m igpg (measured whan the spaceship is
stationary) spaceship passes by the Earth What

length would the people on Earth say Ihe

spaceship was as it pas.';ed the Earth at 0.87¢ 7 |

(a} 256 m
(b) 123 m
(¢} 734m
(d) 456m
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An observer on Earth seesy an alwr, -
Approaching at 0 60 ¢ The Enterprse ~-n
the rescue Cvenaking the spaceshp ar ¢
fetative 1o the afien spaieshp How g«

the cbservers on earth measure the Emarp- .

o be traveiling at 7

(2 0853¢

{b} 974 ¢

{cC 0342¢

'd) 0834 ¢

How much energy 15 conty red g  pact.cle that

has a mass = 1

(F ) 6 910 Joukes
(b) 910 Joules
(€©) 2 7x10 Jouwes
(@) 3 4x10 Joules

Two wires A and B are of the same matenal Ther
lengths are in the ratio of 1 2 and the dameters
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(c) 1 86
(d) 34

The rain drops are sphencal in shape due (o :

~(a) Surface tension

(b) Viscosity
{(c) Diffusion
(d)  Pressure (vin)

The modulus of ngidity and Poisson's ratio of the
are 2 8?’1{1III:|”J N/m’ and 0 379 respectively

wire
What is the vaiue of Young's modulus of the
matenal of the ware
L] 2
08773x10 N/m
@ T [P.T.O.|

(b)  7.915x10" N/m’
() 75725x10" N/m’
(d)  01403x10" N/m’

Calculate the Young's modulus in the cantiever
depression method The length 1§ 1m which 15
suspended with a load of 150 gm Trhe depression
1s found to be 4 cm The thickness of the peam

I8 5 mm and breadth is 3 cm
(@)  392x10° N/m’

(b)  9000x10" N/m’

(c)  4000x10" N/m’

(d)  1245x10° N/m’

The mean distance of Earth from the Sun s
149 6x10° km and the mean distance of Mercury
from the Sun is 57 9x10" km The penod of Earth's
revolutions I1s 1 year. what is the period of
Mercury's revolution ?

(a) 0 32 years



2 (a) Al what speed does 3 CloTx move i

rate which 15 one half the rateof g cinqy o,

(b) At wha! speed does a8 meter slick mg,.

length 15 observed to shnnk 15 0.5

/ (@) Prove the energy-momenium relat)

5 3 3 J
E'=pc+mc

{b) Discuss about nertial and non-inertial fra -

references using proper examples

4 Expiain about surface tension and surface &
Discuss the effects of temperature and pressyrs

surface tension  http://www.ppuponline.com
SECTION-B .

5§ State and explain D' Alembert's pnnciple Aiso obtamn an
expression for Lagrange’s equabon

Q}/ State three Kepler's laws and prove Kepler's third law

P
\ @ What s cantlever 7 Obtain the value of depresson at
the end of a circular cross se
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